APPROVED AS NCHRP 350 T3 TERMINAL

VIA ADOT PRIDE PROGRAM 3-99.

NOTE

Coble Ancher Bon [ ST50]

Ouordreld ol o ehodder bolta, . -
@way from. 8" x 8° Wood CAT Poste
’ structred nuta, (poet 3 wwu 8} [FETT]
WA.CF, Langth of nesd
/o : fl f B
\ S W=-Beom OQuardrall
il I W-Beom Guordrod End Section GOy ok BTRE)
2 -]
naloled Tongenl to Length of Hewd or
with Straight Toper of 251 or Less
Pl e N End paymmt for hslolotion {ea)
begin In poyment for slondord metd bean
TRATIC guord Tence (MACF. XU

17-8" or 25° W-beom Rol Dements

@ \® _ _®. o

=g i SR e o
R 4y H f

£e3" -3 8-y PO ()0-'-.;“ &3 ey
8 .
[Mlon hood
S/ & x 1 1/47
Spiice Balts
Post. 3m ey & Fota
[EES) Scraws iertd
r A
L&
1 GROUND LIKE
i |
T c-{ ] H H H s Eil #l
Anchar Box 1 ]
Asserrtdy | ] .
G - (= = = s
1
) Lempe mal LEVATIO
(EZET11 3/4° ¢ Post Hols v
3/5° ¢ x 15" Balt
& RCA Mt
N BCT Timber Post /3" 0 3 10" 1 5/8° 0.0, Wosher
Hax Hut Lo Hor. Beit wnder Hut only
w/ HCR Mt 8 x8" uI"=2
BCT Coble & (1) Woshe Timber Blockout
Ancher -mr-v.so' Nut enly ]
. W—Beom Cuardrol
|
\ / RS —
* 3/ 0 0” .
" ‘,?‘? Oround Strut Heu Head B [ ]
% y gty . i
N . ./ - w/ (2) Washers| a8 xe-0 ’
x x1 L . CRY Timber Fu!\
wetdm | - - T
1
S/ en1 - o A syre 10 !
ok el s s AL |
Holes 44
I/ 8 % 10" |
ryratet
4 -
w/ (2) Weahars ) |'——,:. Bpieal ® Faed 3 ey B
EARDIAL OCW OF POSY 1 4~
! 1m¢m hole

sfor bearty plate placenent, the
5 side shoutd be etelied wp

. Resdng Piate (EED1

e M"M R A] i i

N T .
\

i ory BRL OF.MATERIALS ) |
'/r'("“ $3000 1 | IMPACT HEAD
$1303/51305| 1 |w-BEAM GUARDRAIL END SECTION 138%. o
<F 61203/G1205| 3/1 | w—BEAM GUARDRAIL, 12 GA., 12.5' or 25
L $730 2 |*FOUNDATION SOIL TUBE, 6" x 8- x &
/r— E740 1 | PiPE StEEVE
E750 1| BEARING PLATE, B” x B” x 5/8"
o 5760 1 .| cABLE ancHOR BOX
b\-é /‘ £770 1__| BCT CABLE ANCHOR ASSEMBLY
i £ E780 1| GROUND STRUT
o7 & PG50 2 |55 x 7.5° x 45° WOOD POSTS
P&71 6 |6 x B” x 6" WOOD CRT POST
J P6&75 6 |6 x 8 x 14" TIMBER BLOCKQUT
£3151 1_ | **IMPACT FACE OBJXCT MARKER (no! shown
\L/ HARDWARE
8580122 |16/32|5/87¢ x 1 1/4" SPLICE BOLT )
B580754 | 2 |5/8%¢ x 7 1/2° HEX BOLT '
8581004 | 2 |5/8°¢ x 10° HEX BOLT
B581002 1 | 5/8% x 16" H.G.R. BOLT (POST 2 ONLY)
B561802 | & |5/8"® x 18" H.G.R. BOLT (POST 3 THRU 8)
/I Noso 7743 5/8% HGR. NUT GRiCE10(0% 307 Tuees 2 I
o PRST 3 THEU 8. 6.)
e w050 1" H.G.R. WASHER
/l N100 2 1" ANCHOR CABLE HEX NUT
Wi00 2 | 1° ANCHOR CABLE WASHER
l‘ : £350 2 |3/8" x 3"-LAG SCREW . .
\,\ . . SB58A 8 | CABLE ANCHOR BOX SHOULDER BOLTS
NOS5A 8 |1/2° A325 STRUCTURAL NUTS
Jumer oS WO50A 16 ‘11 1/16° 0D X 9/16° ID A325 STR. WASHER

®6* x 8° x 6° tube Is an option and
other optlons are ovalable.
xunot supplied by Road Systens.

GEMERAL NOTES

1. Wood posts are required with the Sequenliad Kinking

Terminol

2 Al boits, nuts, coble casombiics, coble onchors end

bearing ploles sholl be galvonized.

X  Whon the Sequentiol Kinking Termind b solected o3 the
ead trestment for MBGF Instollation, the MBGF con be
fiored at a rote of 251 over the firat 50’ of the system

to prevenl the Impoct head from encrooching oq the

shoulder. The flare ts not required ond maoy be dacreased
or ellmincled for specific hstaliotions. A 21 flore rate s
recommended with curb sectiens, beginning at post pumber

five and eading, at post number one.

4 The soll tube shall not protrude more thon 4° cbove
ground {measurcd elong @ §' cord). Site grading may be

necessary to mest this requirement.

5  The scll tubes moy be deiven with on cpproved driving
heod. They shall not ba driven with the wood post In the
tube. If the scll tubes ore placed in drlled holes, the

backfl moterdol must be satlsfoctorlly compocied Lo
prevent setllement.

25" (3" 37 spechy)

23' (8" 37 specing)-
: peinit. W ]
splienel Marvd Invdeliefion, IX1 meximum flare rete

& When rock Is encountered during excavation, o 12° 8 post
hole, 20° desp may be used If cpproved by the engineer.
Gronular materiol wii be placed In the botlom of the hole
cpprox. 2 1/2° deep to provide droinoge. The sol tubss will be ﬂ
fisld cut to langth, placed In the hole ond bockfiled with
odequately compacted matecial excovated from the hole.

7. The breckoway cable ossembly must be toul. A focking
dovice, (vce gripa or channdl lock pllers) should be used to
prevont the ccble from twisting whea tightenlng nuts.

A The wood blockeuts shall be “toe nolled” to the rectonguicr
wood posts to prevent them from tuming when the wood
shrlnks.

2. For curb Instaliotions, tha sol tubes ond posts shall be
Instolled ot the proper ground elevotion behind the curb, The
posts wil roqulre flald drilting new holes to accommodate the
rall to tha post cennecling Belt to malntaln the proper haight
of the rcll obove the gulter pon. The excess post length obove
the rol .wll be removed [f directed by the enghnesr.

10, A spacial slte swoluation should be considered prior to
using the Saquentid Kinking Terminal whers there is less thon
25" batweon tha oculiel side of the Sequontlal Kinking Termind
ond eny odjocant driving ltone.

SEQUENTIAL KINKING TERMINAL

(SKT-350) ASSEMBLY

2 FOUNDATION TUBE DPTID::!
ré

Fis/os . |3/308 | SKT—2uUS 1 1

ROAD SYSTEMS INC.

BIG SPRING, TX
(915)-263-2435 or (815)-464-5917




